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QUESTION PAPER FOR ASSISTANT LIBRARIAN OF ITANAGAR BENCH
Total marks:- 100, Duration 2 hours

SEGMENT:- (A) General Knowledge.

Marks allotted-10
Attempt all questions

All questions carries one mark each

1. Which of the following is the abbreviated name associated with food

security?
(a) ASHA (b) PDS (c) WTO {d) OPEC

2. Which of the following is an economic term?
(a) Plaintiff (b) Bunker Blaster (c) Deflation (d) Lampoon

3. Which of the following is the trophy/ cup associated with the game of
cricket?
{a) Derby {b) Merdeka Cup (c) Santosh Trophy (d) Duleep Trophy

4. The government launched the phase III of Red Ribbon Express on January
12. The Red Ribbon Express is associated with?
(@) Cancer (b) Tuberculosis (c) Cancer (d} AIDS

5. By which name the river Brahmaputra enters into India?
{a) Manas (b) Dhansiri {c) Dihang (d) Tsangpo

6. Which of the following book has been written by Kamala Das ?
{a) Witness the Night (b) The Red Devil (c) Earth and Ashes
(d) Tonight This Savage Right

7. Which state has smallest land area?
(a) Goa (b) Nagaland (c) Sikkim (d) Tripura

8. Sudden fall in the barometric reading indicates what?
(a) Rain {b) Storm (c) Fine weather (d) Extreme cold

9. Where did Mahatma Gandhi first try the weapon of Satyagraha?
{a) South Africa (b) Champaran (c) Bardoli (d) Dandi

10. The custom of having many wives is known as?
(a) Monogamy  (b) Bigamy (c) Polygamy (d) Matrimony

SEGMENT:-(B) GENERAL ENGLISH
Marks allotted:-30

Each question carries one mark
Attempt all questions

Directions :- (Question No. 11 to 15) Out of the four alternatives, choose the
one which best expresses the meaning of the given word.

11. Poignant:- :
{a) Showy (b) Sad (c) Silly ’ {d) Snobbish




12. Audacious:-
(a) Brilliant (b) Powerful . (c) Bold (d) Frightening

13. Perilous:-
(a) Hazardous (b) Rigorous (c) Resilient {d) Requisite

14. Querulous:-

{a} Critical (b} Curious (c) Complaining (d) Ambiguous
15. Reverie:-
(a) Determination (b) Day- dream (c) Reality (d) Realization

Direction:- (Q. Nos. 16--20) Choose the word opposite in meaning to the given
word and mark it in the Answer Sheet. -

16. Autonomous
(a) Self-government (b) Dependent (c} Defensive (d} Neutral

17. Deceitful
(a) Sincere {b) Useful (c) Plain (d) Honest

18. Exonerate
(a) Admit (b) Release {c) Convict (d) Reject

19. Exaggerate
(a) Underwrite (b) Understate (c} Ignore {(d) Condemn

20. Controversial
(a) Indisputable {(b) Restrained {c} Controlled (d} Appeasing

Direction:- (Q. Nos. 21—235) Out of the four alternatives, choose the one which
can be substituted for the given words /sentence and indicate it in the answer

sheet,

21. A person who has no money to pay off his debts
(a) Insolvent (b) Poor (c) Destitute {d) Pauper

22. Words uttered impiously about God

{(a) Amoral (b) Philosophy (c) Logic (d) Blasphemy
23. Quibble
(a) Premeditate (b) Prenominate (c) Prevaricate (d) Preponderate

24. One who complies a dictionary
(a) Geographer (b) Lexicographer (c) Lapidist {(d) Linguist .

25. A test which cells from diseased organs are removed and tested
{(a) Biopsy (b) Autopsy (c) Operation (d) Amputation

Directions:- (Q 26-30) You have a brief passage with 5 questions following the
passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives and marked it in the answer sheet.



Passage

In May 1996, the World Health Organization was authorised to initiate a
global campaign to eradicate small-pox. The goal was to eradicate the disease
in one decade. Because similar projects for malaria and yellow fever had failed,
few believed that small-pox could actually be eradicated, but eleven years after
the initial organization of the campaign, no cases were reported in the field.

The strategy was not only to provide mass vaccinations, but also to
isolate patients with active small-pox in order to contain the spread of the
disease and to break the chain of human transmission. Rewards for reporting
small-pox assisted in motivating the public to aid health workers. One by one,
each small-pox victim was sought out, removed from contract with others and
treated. At the same time, the entire village where the victim had lived was
vaccinated.

Today small-pox is no longer a threat to humanity. Routine vaccinations
have been stopped worldwide.

26. Which of the following is the best title for the passage ?
(&) The World Health Organization

(b) The Eradication of Small-Pox

(C} Small-Pox Vaccinations

(d) Infectious Disease

27. What was the goal of the campaign against small-pox ?

(a) To decrease the spread of small-pox worldwide.

(b) To eliminate small-pox worldwide in ten years.

{c) To provide mass vaccinations against small-pox worldwide.

(d) To initiate worldwide projects for small-pox, malaria and yellow fever at
the same time.

28. According to the paragraph what was the strategy used to eliminate spread
of the small-pox?

{a) Vaccination of the entire village.

(b) Treatment of individual victims.

(c) Isolation of the victims and mass vaccinations.

(d) Extensive reporting of outbreaks.

29. Which statement doesn'’t refer to small-pox?

(a) Previous projects had failed.

(b) People are no longer vaccinated for it.

(c) The World Health Organization mounted a worldwide campaign to
eradicate the disease.

(d) It was a serious threat.

30. It can be inferred that
(a) no new case of small-pox have been reported this year.
(b) malaria and yellow fever have been eliminated.

(c) small-pox victims no longer die when they contract the disease.
(d) small-pox is not transmitted from one person to another.

Directions:- (Q. 31-35) Groups of four words are given. In each group, one
word is correctly spelt. Find the correctly spelt word and mark your answer in
the answer sheet. '




31. (a) Parapharnelia (b} Parsimonious (c) Peccadilo  (d) Peadiatrics

32. (a) Measureable (b) Manageable (c) Marriagable (d) Manoeverable
33. (a) Tussel (b) Tunnle (c) Tumble (d) Trable

34. {a) Populus (b) Pompuous {c) Prelious (d} Presumptuous
35. (a) Impromptue (b) llustrious (c) HNlusery (d} Impetous

Direction:- (Q.36--40) A part of the sentence is underlined. Below are given
alternatives to the underlined part at (a), (b) and (c), which may improve the
sentence. Choose the correct alternative. In case no improvement is needed
your answer is (d).

36. To get into the building I'will disguise as a reporter.
(a) disguised to be {b) disguised as one
{c) disguise myself {d) no improvement

37. He denied that he had not forged my signature.
(a} would not forge (b) had forged
(c) did not forge (c) no improvement

38. IfI had played well, I would have won the match.
(a) I played well (b) I play well
{c} ] am playing well {d) no improvement

39. Since the records are missing, the possibility of paying more than one
compensation for the same price of land cannot be ruled aside.

(a) out (b) off

(c) away (d) no improvement

40. A callous system generates nothing but a misanthrope.
(a) develops {b) induces
{c) produces (d} no improvement

SEGMENT:--(C) GENERAL INTELLIGENCE
(Logical Reasoning and Analytical Ability)

Marks allotted:-20

Each question carries one mark

Direction:- (Q. Nos. 41—45) Select the related letter/word /number/figure from
the given alternatives.

41. Procession : Route : : Earth : ?
{a) Space (b) Sun
{c) Orbit , » (d) Highway



42. FERTILIZER : CROPS :: ?
(a) TEACHER : EDUCATION (b) CHLORINE : WATER
(c) TONIC : BODY (d) PESTICIDES : RATS

43. LOCKER : KMNPBDJLDFQS : : LEFT : ?
(a) KNCDSGSU (b) KMDFEGSU
(c) KMDFEGUS (d) KMDEFGUS

44, ADCB : KNML : : EHGF : ?
(a) DGFE (b) RUST
(c) QRST (d) ZYXW

45, 83:25::29:°?
(a) 44 (b} 49
(c) 40 (d) 63

Directions :- (Q. Nos. 46--50) Find the odd number/ letters/figure/number
pair from the given alternatives.

46. (a) Ladder (b) Staircase (c) Bridge (d) Escalator
47. (a) Talking (b) Walking (c) Sleeping (d)‘ Running
48. (a) DWHS (b) BYDW (c) CWFS (d} EVJQ
49. (a) DHLP (b) TXBF (c) JNRV (d) YBEH
50. (a) 1 (b) 65 © 8 (d) 64

S1. If the day before yesterday was Thursday, when will Sunday be?:
(a) Today (b) Two days after today
(c) Tomorrow (d) Day after tomorrow

52. If the day before yesterday was Saturday what day will fall on the day after
tomorrow?

(a) Friday {b) Thursday
(c) Wednesday (d) Tuesday
53. If February 1, 1996 is Wednesday, What day is March 3, 1996?
(a) Monday (b} Sunday
(c) Saturday (d) Friday

54. Pointing to man, Deepak said, “His only brother is the father of my
daughter”. How the man is related to Deepak?
(a) Grandfather (b) Father

() Uncle (d) Brother in law

55. Rahul’s mother is the only daughter of Monika’s father. How is Monica’s
husband related to Rahul?

(@) Uncle (b) Father
(c) Grandfather (d) Brother
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56. If Raman is to the south of Shyam and Mohan is to the East of Shyam, in
which direction is Raman in respect of Mohan?

(@) North-East (b) North-West
() South-East (d) South-West

57. Ahmed is taller than Salim. Salim is not as tall as Ahmed but taller than

Akbar. Sohan too is not as tall as Salim but taller than Akbar. Who is the
tallest?

(a) Salim (b) Akbar
(c) Ahmed (d) Sohan

Direction:- (Q. Nos.58--60) Arrange the given words according to dictionary
and choose the one that comes first.

58. (a) Temple (b) Tenant (c) Terminate (d) Teinperature
59. (a) Qualify  (b) Quarter (c) Quarrel (d) Quaver

60. (a) Meeta (b) Mother ({c) Meets (d) Many

SEGMENT:--(D) LIBRARY SCIENCE

Marks allotted -40

Answer all questions.
Each question carries one mark each.

61. Encyclopaedia of library and Information Science is published by :
(A) H. W. Wilson (B) R. R. Bowker
(C) Marcel Dekker (D) Andrew Deutsch

62. “God has chosen me as an instrument, the honour done to me should
act as an incentive to the younger generation to devote their lives whole
heartedly to library science and service”, Whose quotation is this?

(A} B. S. Kesavan (B) Melvil Dewey
{C) S. R. Ranganathan (D) W. C. B Sayers

63. Routing of periodicals is considered as:
(A) CAS (B) SDI
(C) Translation service (D) Indexing and Abstracting service

64. A statement that is to be tested in research is called:

(A) Problem (B) Assumption
(C) Hypothesis (D) All the above

65. ISDN stands for :

(A) International Standard Digital Network

(B) International Standard Distributed Network
(C) Integrated Services Digital Network

(D) Integrated Services Distributed Network



66. The following is the search engine for scientific information only :

(A) Google (B) SCIRUS
(C) Yahoo {D) Alta Vista

67. One of the following has designed models of communication:

(A) Shannon and Weaver {B) Ranganathan and Neelmeghan
(C) Losswell and Gerbher (D) Blake and Mouton

68. OAI stands for:-

(A) Open Access Initiatives (B) Open Archives Initiatives
(C) On-line Archives Initiatives (D) On-line Access Initiatives

69. According to Machlup the difference between information and knowledge is
(A) Information increases with use, whereas knowledge is constant.

(B) Information is stimulatory, whereas knowledge is practical.

(C) Information is shareable, whereas knowledge is one’s property.

(D) Information is piecemeal, fragmented, particular, whereas knowledge is
structured, coherent and universal.

70. “Web of Science” is

(A) A Citation Index {B) A Bibliography
(C) An Abstracting Service (D) All of the above

71. “Facts on File” can be grouped under

(A) Primary source . (B) Secondary source
(C) Tertiary source (D) None of the above

72. In MARC 21, subject access fields are

(A) 3xx (B) 4xx
(C) Sxx (D) 6xx

73. Transformation of traditional libraries to hybrid / digital libraries is

{A) Crisis Management {B) Re-engineering
(C) Change Management (D) Project Management

74. Which one of the following is not a switching system?

(A) Packet (B) Circuit
{C) Router (D) Message

75. Access to back volumes of E-journals is known as

(A) Random Access (B) Perpetual Access
(C) Online Access (D) Retrospective Access

76. The chi-square technique is used to compare the observed data with that of




(A) Collected raw data (B) Expected data

(C} Analysed data (D) Graphical data

77. Parry Committee’ (UK) was set up to advise

(A) School Libraries (B) Public Libraries
(C) Special Libraries (D) University Libraries

78. FRBR is developed by

(A} LC (B) UNESCO
(C) IFLA (D) FID

79. Who were involved in Public Library Movement in India ?

(i) Sayaji Rao Gaekwad II (i) C.D. Deshmukh
(iii} S. Radhakrishnan (iv) S.R. Ranganathan
Codes :

(A) (i) & (iii) are correct (B) {ii) & (iv) are correct
(C) (i) & (iv) are correct (D) (ii) & (iii) are correct

80. Which of the following are library networks ?

(i) Internet (iiy DELNET

(iii) NICNET (iv) OCLC

Codes :

(A) (i) and (ii) are correct. (B} (ii} and (iv) are correct.
(C) (i) and (iii) are correct. (D) (i) and (iv) are correct.

81. Assertion (A) : Knowledge is growing exponentially.

Reason (R) : Number of researchers have increased.

Codes :
(A) Both (A) & (R} are true. (B) Both (A) and (R) are false.
(C) (A) is false but (R) is true. (D) (A) is true but (R) is false.

82. Assertion (A) : Present decade has accepted E-journals as channels of fast
communication.

Reason (R) : E-publications have added enormous quantity of literature but
affected the quality of research.

Codes :

(A) (A) is true but (R) is false.

(B) (A) is false but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation.
(D) Both (A) and (R) are true, but (R) is not a correct explanation.



83. Assertion:-(A) : Library & Information centres are knowledge/management
centres.
Reason (R) : Libraries handle tacit knowledge.

Codes :
{A) Both (A) and (R} are true. (B) (A) is partially true, but (R) is false.
(C) (A) is false, but (R) is true. (D) Both (A) and (R) are false.

84. Assertion (A) : Metadata hold much promise for information retrieval and
access in the digital age.

Reason (R) : Metadata can save a number of functions including description,
resource discovery and management of resources.

Codes :
(A) (4} is true, but (R) is false. (B) (A} is false, but (R) is true.
(C) Both (A) and (R} are true. (D) Both (A) and (R) are false.

85. Assertion (A): Training methods through brain storming stimulate idea
generation.

Reason {R): Training methods do not provide opportunity to unskilied to .
become skilled.

Codes :
(A) (A) is false but (R} is true. (B) Both (A} and (R) are false.
(C) Both (A) and (R} are true. (D) (A) is true but (R) is false.

86. Assertion (A) : Random samples are not representative of the whole
population.
Reason (R) : Random numbers are used in forming a random sample.

Codes :
(A) (A} is true, But (R) is false. {B) (A) is false, but (R) is true.
{C) Both (A) and (R) are true. (D) Both (A) and (R) are false.

87. ISBN now consists of -

(A) 10 digits (B) 13 digits
(C) 15 digits (D) 8 digits

88. “Publishers’ Weekly” is published by

(A) H. W. Wilson, New York (B) R. R. Bowker, London
(C) American Library Association, Chicago (D) Aslib, London

89. Which library is authorized to receive books under Delivery of Books Act”?

(A) National Science Library, Delhi (B) Central Library, Delhi
(C) State Central Library, Mumbai (D) Parliament Library, Delhi

90. As per Indian Copyright Law, copyright is granted for

(A) Fifty years after the book is published
(B) Fifty years after the death of the author
(C) Sixty years after the book is published
(D) Sixty years after the death of the author
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91. The Principle of Local Variation is mainly applicable in
(A) Cataloguing (B) Reference service
(C) Circulation (D) Acquisition
92. Who is the Father of Library Movement in USA ?
(A) F. W. Lancaster (B) Paul Wasserman
(C} Melvil Dewey ‘ (D) Allen Ken
93. New Encyclopaedia Britannica is published from
{A) London (B) New York
(C}) Paris (D) Chicago
94. Who coined the term POSDCORB?
(A} Henri Fayol (B) Max Weber
(C} Gulick and Urwick (D) Wilson and Tauber
95. Which one is not a Canon (as given by Ranganthan) ?
(A) Canon of Comprehensiveness (B} Canon of Consistence
(C) Canon of Context (D) Canon of Currency
96. Union List’ is the record of
(A) Library members living in a Union Territory
(B) Periodicals available in a group of libraries
(C) Library unions located in a Union Territory
(D) List of members of a Library Union
97. The term ‘bibliometrics’ was first used by
(A) S. R. Ranganathan (B) Alan Pritchard
(C) Allen Kent (D) A. C. Foskett
98. Auto abstracting involves use of computers to
(A) structure the content of an abstract (B) prepare indicative abstract

(C) pickup significant words (D) arrange words in order

99. ‘Half-life’ in Information Science relates to

(A) Rate of obsolescence (B) Rate of growth
(C) Degree of scatter (D) Information explosion

100. In “Spiral of Scientific Method”, Zenith marks

(A) Facts (B) Empirical laws
(C) Fundamental laws (D) Deduced law
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